Answer key

1-30 CABCD BABCB CDDCB ADCAD BDACD BACDA

31-40 BADCD ABDBC

41-50 CBCDB ABCDA

51-60 BC/AC/AB/A /C B/D/E/AE/AD

61-65 B/E/AB/A/ D

66-73 BCDB DCAD

74. heart set on 75. castles in the air

76. unfavorable circumstances 77. plight and challenges
78. followed through 79. teasted her eyes on
80. delicate symmetry 81. in the course of

82. provoked widespread opposition 83. a matter of fact
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84. Had he not shut his eyes to/ the savage (severe) criticism, the responsible
employee/ could not have gone to work (the office)/ with vigor (energy) and

passion (enthusiasm) every day.
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